October 19, 2016

Perfect Square Trinomials s

- three terms: the first and last are perfect squares.
- factors like this...
a2 + 2ab + b2 = (a + b)?
OR
a2 -2ab+b2=(a-b)

- recognize them and you save yourself the
decomposition steps!!!

= e
e P
EXAMPLES...
/ %
1) 25x°-10x + 1 2) 9x" +24x +16

: I
?‘) @( F4)*




(5x- Y @MB)L
(5 DY)
N~
aS)(fL_@( 5
15— 10X T |



October 19, 2016

Sttt )Q — 2% —\—3(0

X - by

' +8x+\é dy” +iau+ B

R s LY
( 7 &(}(’rf)) o)@

{
au\\q)(t\\)(ﬂ

X1
_y b



October 19, 2016

Factor using Perfect Squares Method

25x% - 120x + 144 81x2 - 180x + 100

49x2 + 80x + 36 36x% + 132x + 121
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ifference of Oquares | 6\ -
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- two terms that are perfect squares. . 0 4 M?Tvi
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Recognize binomial
Check for difference of squares

Double check!!
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Homework

Works sheet: Difference of Squares and Perfect Square
Questions : All
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Math 10 Name

Factoring: Difference of Squares and Perfect Squares Date
Factor each completely.

1) n*—9 2) 25a° -9

3) k* -4 4) 16x* -9

5) x* -25 6) 25x° — 1617

7 u® — 16v° 8) ut —n?

9y 4x? — 1* 10) a® - 25b°

11) 9m* + 12m + 4

13) 25x° - 20x + 4

15) 9b% —24b + 16
17) 9x% — 6y + »*

19) x° — 8xv+ 1637

12) 16+° + 8+ 1

14) 16x° + 401 + 25

16) 16m* — 24mn + 9n*
18) 25x% + 10xy + 1°

20) 9x + 24xy + 16)°
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Answers to Factoring: Difference of Squares and Perfect Squares (ID: 1)

1) (e+3)(n-3) 2) (3a+3)(5a-3) 3 (k+2)(k-2) 4y (4% +3)(4x - 3)

5 (x+35)(x-3) 6) (5x+43)(5x — 4y) 7 (o +4v)w—4v) 8) (u+3v)(u—3v)

9) (2x+ )2x - ) 10) (a+ 5)(a - 5b) 11) 3m+2)? 12) (4r+1)?
13) (5x-2)° 14) (4n+5)° 15) (35— 4)° 16) (4m - 3n)*
17 (3x—3)* 18) (5x+1)° 19) (x —4y) 20) (3x +49)°
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1) -9 2) 25a° -9
(n+3)—-3) (5a + 3)(5a - 3)

3) k-—4 4) 16x~ -9
(k+2)k-2) (4x +3)(4x - 3)
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5) x~ =25 6) 25x — 16y~
(x+5)x-35) (5x +4y)(5x — 4y)
7 u® - 16v° 8) u” — 9
(20 + ) — 4v) (22 + 3v)(u — 3v)
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9) 4x7 — 3~ 10) a” — 25b°
2x +v)(2x — ») (@ + 5b)a — 5b)
11) 9m~ + 12m + 4 12) 167~ + 8 + 1
(3m + 2:]: (47 + 1:}:
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13) 253" —20x + 4 14) 161~ + 40n + 25
(5x—2)° (45 + 5)°

15) 9% —24b + 16 16) 16m” — 24mn + 9n”
(36— 4)° (4m - 3n)°
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17) 9x° — 6xy + y~ 18) 25x~ + 10xy + v~

(3x— ) (5x+ )

19) x~ — 8xy + 161~ 20) 9x~ + 24xy + 161°
(x— 4'1-':]: (3x + 4.1-']:
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